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pT (ttbar) (Mtt > 450 dy < 0)

[IIWI [TI

IIIIIHYI IIIIIHYI IIIIIHYI IIIIIHYI IE

--3-- Herwig 7.2.1 default
—A— Pythia 6.428 370

—a— Pythia 8.308 default
----- ¢ Sherpa 2.2.9 default

JEATVA
AR A
vvvvvvvv

,,,,,,
B,

Ililhlilrlllllﬂll IIIIIHII IIIIIHII IIIIIHII IIIIIlIJI LLL

Top (partlon Ilevlel)

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

Ratio to Herwig 7.2.1 default

’.I T |||IIL-|-E],IIIIII]Y| IIIIIHYI IIIIIHYI IIIIIIVI TTTT

/\
N RN T b
g T\ [ AN T [/

e A
A Al A

' e ]
: ! K i o
L ST il oA f
— st ooz H g “ -k —
L wo ! B B of .

O ] E e :
. e .
: .




	Contents
	Page 1


